

$$\begin{aligned} \frac{D}{Dt} \left(\frac{1}{2} \sigma_i \sigma_i \right) &= \frac{\partial}{\partial t} \left(\frac{1}{2} \sigma_i \sigma_i \right) + \sigma_i \frac{\partial}{\partial x_i} \left(\frac{1}{2} \sigma_i \sigma_i \right) \\ &= \frac{\partial}{\partial t} \left[\frac{1}{2} (\sigma^2 + \tau^2 + \omega^2) \right] + \sigma \frac{\partial}{\partial x} (K) + \tau \frac{\partial}{\partial y} (K) \\ &\quad + \omega \frac{\partial}{\partial z} (K) \\ K &= \frac{1}{2} \sigma_i \sigma_i \\ &= \frac{\partial K}{\partial t} + \sigma K_x + \tau K_y + \omega K_z \\ &= \frac{DK}{Dt} = \frac{\partial K}{\partial t} + \underline{v} \cdot \nabla K \end{aligned}$$

Scalar

$$\frac{\partial}{\partial x_i} \left(-\frac{\rho \sigma_i}{\rho} \right) = -\rho^{-1} \left[(\rho \sigma)_x + (\rho \tau)_y + (\rho \omega)_z \right] \quad \nabla \cdot \underline{f} = \text{Scalar}$$

$$2 \nu \frac{\partial}{\partial x_i} \sigma_i E_{ii} = \nu \frac{\partial}{\partial x_i} \left[\sigma_i (\sigma_{i,i} + \sigma_{i,i}) \right] \begin{matrix} \left[\frac{\partial}{\partial x_i} \right] & \left[\sigma_i \right] & \left[\sigma_{i,i} \right] \\ \uparrow & \uparrow & \uparrow \\ \text{column} & \text{row} & 3 \times 3 \end{matrix}$$

$$\begin{aligned} &2(\sigma \sigma_x)_x + [2(\sigma \sigma_y + \tau \sigma_x)]_y + [2(\sigma \sigma_z + \omega \sigma_x)]_z \\ &+ [2(\tau \tau_x + \sigma \tau_y)]_x + 2(\tau \tau_y)_y + [2(\tau \tau_z + \omega \tau_y)]_z \\ &+ [2(\omega \omega_x + \sigma \omega_z)]_x + [2(\omega \omega_y + \tau \omega_z)]_y + 2(\omega \omega_z)_z \end{aligned}$$

vector
 $\nabla \cdot \underline{f} =$
Scalar

$$\begin{aligned} -\frac{\partial}{\partial x_i} (\overline{u_i u_i} \sigma_i) &= - \left[(\overline{u^2} \sigma)_x + (\overline{u \sigma})_y + (\overline{u \omega})_z \right. \\ &\quad \left. + (\overline{u \sigma})_x + (\overline{u \tau})_y + (\overline{u \omega})_z \right. \\ &\quad \left. + (\overline{u \omega})_x + (\overline{u \tau \omega})_y + (\overline{u \omega})_z \right] \end{aligned}$$

Symmetric
 $\sigma_i \overline{u_i u_i}$

$$\begin{aligned} -2\nu E_{ii} E_{ii} &= -2\nu \frac{1}{4} (\sigma_{i,i} + \sigma_{i,i})^2 = -\frac{\nu}{2} (\sigma_{i,i} + \sigma_{i,i})^2 \\ &= -\nu (\sigma_{i,i}^2 + \sigma_{i,i} \sigma_{i,i}) \end{aligned}$$

inner product
two 2nd
order
tensor =
2nd order
tensor
& contraction

$$\begin{aligned} &\sigma_x^2 + \sigma_y^2 + \sigma_z^2 + \tau_x^2 + \sigma_y \tau_x + \sigma_z \tau_x \\ &+ \tau_x^2 + \tau_y^2 + \tau_z^2 + \tau_x \sigma_y + \tau_y^2 + \tau_z \omega_y \\ &+ \omega_x^2 + \omega_y^2 + \omega_z^2 + \omega_x \sigma_z + \omega_y \tau_z + \omega_z^2 \end{aligned}$$

$$\begin{aligned} \overline{u_i u_i} \frac{\partial \sigma_i}{\partial x_i} &= \overline{u^2} \sigma_x + \overline{u \sigma} \sigma_y + \overline{u \omega} \sigma_z \\ &+ \overline{u \sigma} \tau_x + \overline{u \tau} \tau_y + \overline{u \omega} \tau_z \\ &+ \overline{u \omega} \omega_x + \overline{u \tau} \omega_y + \overline{u \omega} \omega_z \end{aligned}$$

=
Scalar

$$\frac{D\rho}{Dt} = \frac{\partial \rho}{\partial t} + \underline{U} \cdot \nabla \rho = \frac{\partial \rho}{\partial t} + u \rho_x + v \rho_y + w \rho_z \quad \text{Scalar}$$

$$\rho = \frac{1}{2} u_i u_i = \frac{1}{2} \underline{u} \cdot \underline{u}$$

$$= -\frac{\partial}{\partial x_i} \left[e^{-1} \overline{\rho u_i} + \frac{1}{2} \overline{u_i^2 u_i} - 2v \overline{u_i \xi_{ij}} \right] - \overline{u_i u_i} \sigma_{i,j} - 2v \overline{\xi_{ij} \xi_{ij}}$$

$$e^{-1} \frac{\partial}{\partial x_i} (\overline{\rho u_i}) = (\overline{\rho u})_x + (\overline{\rho v})_y + (\overline{\rho w})_z \quad \nabla \cdot \underline{f} = \text{Scalar}$$

$$\frac{1}{2} \frac{\partial}{\partial x_i} (\overline{u_i^2 u_i}) = (\overline{u^3})_x + (\overline{u^2 v})_y + (\overline{u^2 w})_z$$

$$= \text{Scalar} + (\overline{v^2 u})_x + (\overline{v^3})_y + (\overline{v^2 w})_z$$

$$\nabla \cdot \underline{f} = \underline{f}$$

$$\text{Scalar} + (\overline{w^2 u})_x + (\overline{w^2 v})_y + (\overline{w^3})_z$$

$$-2v \frac{\partial}{\partial x_i} (\overline{u_i \xi_{ij}}) = 2(u u_x)_x + [u(u_y + v_x)]_y + [u(u_z + w_x)]_z$$

$$\nabla \cdot \underline{f} = \text{Scalar}$$

$$+ [v(v_x + u_y)]_x + 2(v v_y)_y + [v(v_z + w_y)]_z$$

$$+ [w(w_x + u_z)]_x + [w(w_y + v_z)]_y + 2(w w_z)_z$$

Continuity $\xi_{ij} - \overline{u_i u_i} \sigma_{i,j} = P = \text{Some term MKE equation}$

$n=2$

$$\text{Jensons} \quad 2v \overline{\xi_{ij} \xi_{ij}} = v (u_{i,j}^2 + u_{ij} u_{ji})$$

= Scalar

$$\begin{aligned} & u_x^2 + u_y^2 + u_z^2 + u_x^2 + u_y v_x + u_z w_x \\ & + v_x^2 + v_y^2 + v_z^2 + v_x u_y + v_y^2 + v_z w_y \\ & + w_x^2 + w_y^2 + w_z^2 + w_x u_z + w_y v_z + w_z^2 \end{aligned}$$